(hmmm...no 1-4 or 2-3 combinations) {An ace is a possibility)

Applylng Logic {Probably all *“ten’ cards) (Logic saves two points)

- o , R B “Eighteen”
Fifteen-two “Thirty-one” “Thirteen
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“Ten' “Twenty-five” “Ten” ’Fourteen””
(No 7, 8, 9 or king. Let’s try to catch a 5)
" . {It worked)
“Three "Twenty-two"’ “Thirty-one”
3 3 4
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Employing logic gained an extra
point. Most players would play
the second 3 for "186," followed
by Jake's probable "ten" card for
"26.” Your 4 would by only a"'go"
for one point.

““Thirteen’” “Twenty-seven’”
(Na5,6,7,80r9) (Ah ha! No 9) ""“Twenty-nine, .
“Twenty-two"’ “Nine’* a run of three

Without legic, Jake would have
outscored you 4-1, it your third
card played was the 10. Employ-
ing logic, you outscored Jake 4-2.

“Twelve” “Twenty-four” “Nineteen”
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Applyirig Logic

{hmmm, no 5)

“Twenty-six’*

Normally, the jack would be
"dumped"” onyoursecond play.
Logic saves a point. And since
your 10openinglead was "safe,"
your third card played is an-
other "safe™ 10.

“’Eleven””
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““Seventeen’’

{No 4, let’s try to entice a 5)

“Twenty-nine,
"
a run of four

“Eighteen’’

“Thirty”

(It worked)

“Eleven’”

i &
Q
A aa

O 0% 2K

2O O
¢ ¢ &
10 08

% &

® ¥

If you play your 6 for your second
play, Jake would have paired it
sately. The 4 as your second play
Is covered by your 5 or 6 if Jake
establishes a run with a 2 or 5.
Your use of logic and playing the
"safe” 4 gives you the pegging
edge of 6-3. Playing the 6 as your
second play would have cut the
matgin to 3-2.
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“Twenty- -three,
a run of three”

“Fourteen”
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